Direct and Inverse Proportion
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In each case, first find k, the constant of proportionality, and then the formula connecting the variables,

g @ 7 is directly proportional to x*. If T =36 when x = 3, find the following.
2 a Twhenx=5 b x when T = 400

: @ W is directly proportional to M>. If W =12 when M = 2, find the following.
@ a WwhenM=3 b M when W=75

@D E varies directly with VC. If E = 40 when C = 25, find the following.

a Ewhen C =49 b Cwhen E=10.4
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@D W is directly proportional to M2, If W = 12 when M = 2, find the following.
a Wwhen M =3 b M when W=75
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@D E varies directly with VC. If E = 40 when C = 25, find the following.

a Ewhen C =49 b Cwhen E=104
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@ Q varies inversely with (5 -1). If O = 8 when t = 3, find the following.
a Qwhent=10 b twhen Q=16

M varies inversely with ¢2. If M = 9 when t = 2, find the following.

a Mwhent=3 b twhen M= 1.44
@ W is inversely proportional to V7. If W = 6 when T = 16, find the following.
a Wwhen T=25 b Twhen W=24
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M varies inversely with 2. If M = 9 when 1 = 2, find the following.
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